

A24

(1) Es sei  $\alpha: I \rightarrow G$ ,  $\beta: I \rightarrow G$  sind stetig  $\Rightarrow \gamma: I \rightarrow G \times G$  ist stetig  
 $\hookrightarrow (\alpha, \beta)$

$\Rightarrow \alpha \cdot \beta: I \rightarrow G$  und  $\alpha \cdot \beta = \text{inj}$  ist stetig

$\Rightarrow \alpha(0) \cdot \beta(0) = e = \alpha(1) \cdot \beta(1)$   
 $\quad \quad \quad \uparrow \quad \quad \quad \uparrow$   
 $\quad \quad \quad (\alpha^{-1})(0) \quad \quad \quad (\alpha^{-1})(1)$

(2)  $\alpha \circ \beta = (\alpha \circ \varepsilon) \cdot (\varepsilon \circ \beta)$  folgt sofort aus Def. 7.7 (c)

Es wäre hier wir, dass  $[\alpha \circ \varepsilon] = [\alpha]$  <sup>Prop 7.3</sup>  $\Rightarrow \exists H_1: I \times I \rightarrow G$  und  $H_1(t, 0) = \alpha(t)$   
 $H_1(t, 1) = e$

Es  $\exists H_2: I \times I \rightarrow G$  und  $H_2(t, 0) = \beta(t)$   
 $H_2(t, 1) = (\varepsilon \circ \beta)(t)$

$\Rightarrow H_1, H_2: I \times I \rightarrow G \times G$  bzw.  $H_1: I \times I \rightarrow G \times G$  sind Homotopien  
 $(t, s) \mapsto (H_1, H_2)$

und  $H = \text{inj} \circ H_1$  bzw.  $H' = \text{inj} \circ H_2$  ebenfalls (\*)

$\Rightarrow \alpha \cdot \beta = (\alpha \circ \varepsilon) \cdot (\varepsilon \circ \beta) \text{ rel } \{0, 1\} \Rightarrow [\alpha \cdot \beta] = [\alpha \circ \beta] = [\alpha] \cdot [\beta]$

(1) ~~Es sei  $\alpha, \beta: I \rightarrow G$  stetig  $\Rightarrow \alpha \cdot \beta: I \rightarrow G$  ist stetig  
 $\hookrightarrow (\alpha, \beta)$   
 $\Rightarrow \alpha \cdot \beta = \text{inj}$  ist stetig  
 $\Rightarrow \alpha(0) \cdot \beta(0) = e = \alpha(1) \cdot \beta(1)$   
 $\quad \quad \quad \uparrow \quad \quad \quad \uparrow$   
 $\quad \quad \quad (\alpha^{-1})(0) \quad \quad \quad (\alpha^{-1})(1)$~~

Wegen  $(\alpha \circ \varepsilon) \cdot (\varepsilon \circ \beta) = (\varepsilon \circ \beta) \cdot (\alpha \circ \varepsilon)$  und (\*)

folgt  $\pi_1(G, e)$  abelsch